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ENGLISH VERSION

1  Explain meaning and definition of Financial Management 20

and discuss classification of finance functions.

OR
1 Explain approaches of financial functions. 20
2  Determine the weighed average cost of capital using : 20

(1) Book value weights and
(2) Market value weights based on following information:

Book value structure :

Debentures (Rs. 100 per debenture) Rs. 8,00,000
Preference shares (Rs. 100 per share) Rs. 2,00,000
Equity share (Rs. 10 per share) Rs. 10.00,000

Rs. 20,00,000

Recent market prices of all these securities are :
Debentures Rs. 110 per debenture.
Preference share Rs. 120 per share.

_..Equity share Rs. 22 per shave, =~ =~~~
External financial opportunities are :

(1) Rs. 100 per debenture redeemable at par, 10 years
maturity, 13% coupon rate, 4% floatation cost and sale
price Rs. 100.
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(2) Rs. 100 per preference share redeemable at par 10 years
maturity, 14% dividend rate, 5% floatation cost and sale
price Rs. 100.

(3) Equity shares Rs. 2 per share floatation cost and sale
price Rs. 22.

Dividend expected on equity share at the end of the

year is Rs. 2 per share, anticipated growth rate dividend

~is 7%, company pays all its earnmings in the form of
dividend corporate tax is 50%.

OR

2 (A) Om Co. issues 10% irredeemable preference shares of 20

Rs. 100 each. The floatation expenses are 4% and the
shares are issued at par. Compute the cost of capital

(1) At 5% premium.
(2) At 5% discount.

(B) Kunjal Company issues 10% debentures of 10 years
maturity. The face value of the debentures is Rs. 100 and
its issue price is 98. The company pays underwriting
commission and other charges which amount to 5% of face
value of the debentures. If the tax rate is 50%, compute
the cost of debentures.

(C) The current market price of share is Rs. 90 and expected
dividend per share next year is Rs. 4.50 If the dividend
are expected to grow at a rate of 7%, calculate the cost
of equity.

(D) The annual earning of D Ltd. is Rs. 5,00,000. Shareholders
expected 12% rate of return. If company's earnings are
distributed among shareholders they would earn 10%
return by investing in other company. The rate of
brokerage in new investment is 2%. If the company wants
to retain its earnings, what would be cost of capital ?
Assume that shareholders are in 35% tax group.
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Following information are of two companies :
Particular Company-A Company-B
Eq. share capital of
Rs. 10 each 1,60,000 80,000
10% debenture 40,000 1,20,006
Net operating income 40,000 40,000
(1) If cost of equity of both company is 12% then find overall

@)

)

(A)

®)

cost of capital of both company as per Net Operating
Income approach.

If overall cost of capital of both company is 15%, then
find out cost of equity of both company as per Net
Operating Income approach.

Give your opinion for the best capital structure.
OR

Net operating income of x Co. Ltd. is Rs. 3,00,000 while
its total investment is Rs. 18,00,000, the rate of equity
capitalization is 12% when its capital structure does not
include debts. But the rate of equity capitalization is
12.5% when the company issues 8% debentures of Rs.
5,00,000 in exchange of its equity shares and it is 15%
when it issues 10% debentures of Rs. 9,00,000 in exchange
of its equity shares.

Compute the cost of capital and market value of the
company under these three situation according to
traditional approach.

Explain arbitrage process of M.M. approach with example.

Following details are available for Khushi Company Ltd.

Earning per share Rs. 10, dividend per share Rs. 8,
capitalization rate 10%.

If the rate of return is 8%, 10%, 12%, 14%, 16%, 18%,

20%, 22%, 24% and 26%, calculate the market value of shares
as per Walter's model.

OR
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4  The internal rate of return of a company is 15%, capitalization 20
rate of the company is 12% and earning per share of company
is Rs. 8.

If the rate of retained earnings 5%, 10%, 20%, 30%, 40%,
50%, 60%, 70%, 80%, 90% respectively, find out market value
of share as per Gordan's Model.

5  Explain meaning, definition, characteristics, nature of working 20
capital and state its significance.

OR

5  Discuss determinants of working capital. 20
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